
Standard 3 
Social Studies 

Chapter 2 : Changes in a Neighbourhood and School  

Assignment  

THINK AND ANSWER  

Do Q. A, B, C and D page10 & 11 in your textbook. You 
can refer to the answers given below.  

A. Tick (✓) the right answer  

1. (a) United States  
2. (c) Ravish Chopra  
3. (b) 12years old  
4. (c) cousins of Rohan  
5. (c) migration  

B. Match the following  

1. Madan Chopra - Grandfather of Rohan  
2. Sonia Chawla - Wife of Rajiv Chopra  
3. Uma Mehra - Wife of Ravish Chopra  
4. Rita and Rohan - Brother and sister  
5. Sanjeev Kapoor - Father of Bobby Kapoor  

C. Fill in the blanks  

1. doctor  



2. local  
3. gender  
4. education  
5. Burger and pizza  

D. True or False  

1. true  
2. true  
3. false  
4. true  
5. true 

E. Answer the following questions.  

(Write down the questions and answers in your S.ST 
copy) 

Q.1 Why did Rohan become happy?  

A.1 Rohan became happy because his father decided to 
spend rest of his life in United States.  

Q.2 What changes took place in the lifestyle of Rohan in 
the United States?  

A.2 His lifestyle became western, he started talking in 
English with his neighbours, started wearing western 
clothes and he picked up the habit of eating western 
food like burger and Pizza.  
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